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�оDядок о5D45отк8 пеDEо=4лP=Oх д4==Oх 6 E6я78 
E 6еде=8е< к4дDо6о7о делопDо876одEт64 8 л8ч=Oх дел D45от=8ко6 (колO 

 

1. О�)�� �ОЛО����Я 
1. �оDOдок о5D45отк8 пеDEо=4лL=KE д4==KE 6 E6O78 E 6еде=8е< к4дDо6о7о 
делопDо876одEт64 8 л8G=KE дел D45от=8ко6 ШколK 6 �КО' !4<о9ло6Eк4O !ОШ (д4лее - 
�оDOдок), опDеделOет длO к46до9 Fел8 о5D45отк8 пеDEо=4лL=KE д4==KE EодеD64=8е 
о5D454тK64е<KE пеDEо=4лL=KE д4==KE, к4те7оD88 Eу5Jекто6, пеDEо=4лL=Kе д4==Kе 
котоDKE о5D454тK64NтEO, EDок8 8E о5D45отк8 8 ED4=е=8O, поDOдок у=8Gто6е=8O пD8 
доEт86е=88 Fеле9 о5D45отк8 8л8 пD8 =4Eтупле=88 8=KE 74ко==KE оE=о64=89. 
2. �еDEо=4лL=Kе д4==Kе Eу5Jекто6 о5D454тK64NтEO 6 FелOE 6еде=8O л8G=KE дел 
D45от=8ко6 ШколK 

3. !у5Jект4<8 пеDEо=4лL=KE д4==KE O6лONтEO D45от=8к8 ШколK. 
4. В FелOE, опDеделе==KE 6 пу=кте 2 �оDOдк4, о5D454тK64NтEO EледуNI8е к4те7оD88 
пеDEо=4лL=KE д4==KE ук474==KE Eу5Jекто6: 
- D4<8л8O, 8<O, отGеEт6о; 
- пDе6=8е D4<8л8O, 8<O, отGеEт6о, д4т4, <еEто 8 пD8G8=4 87<е=е=8O (6 EлуG4е 
87<е=е=8O); 
- д4т4 8 <еEто Dо6де=8O, 6о7D4Eт; 
- пол; 
- 87о5D46е=8е (Dото7D4D8O); 
- п4EпоDт=Kе д4==Kе, 6 то< G8Eле EеD8O, =о<еD, ко7д4 8 ке< 6Kд4=, код подD47деле=8O; 
- 8де=т8D8к4F8о==K9 =о<еD =4ло7опл4телLI8к4; 
- Dек6878тK EтD4Eо6о7о E68детелLEт64 о5O74телL=о7о пе=E8о==о7о EтD4Eо64=8O; 
- Dек6878тK пол8E4 о5O74телL=о7о <ед8F8=Eко7о EтD4Eо64=8O; 
- о5D47о64=8е (ко7д4 8 к4к8е о5D47о64телL=Kе уGDе6де=8O 74ко=G8л(4), =о<еD4 
д8пло<о6, =4пD46ле=8е под7ото6к8 8л8 EпеF84лL=оEтL по д8пло<у, к64л8D8к4F8O по 
д8пло<у); 
- 4дDеE Dе78EтD4F88 по <еEту 68телLEт64 8 (8л8) D4кт8GеEко7о пDо6864=8O д4т4 
Dе78EтD4F88 по <еEту 68телLEт64; 
- 8=DоD<4F8O о =4л8G88/отEутEт688 Eуд8<оEт8; 
5. Веде=8е л8G=KE дел D45от=8ко6 ШколK 6о7л474етEO =4 EпеF84л8Eт4 по к4дD4<. 

 

2. �О Я�ОК $О �� О����Я Л�'�/% ��Л  ��О&��КО� 

2.1. $оD<8Dо64=8е л8G=о7о дел4 D45от=8ко6 ШколK пDо876од8тEO =епоEDедEт6е==о 
поEле пD8е<4 6 О' 6 теGе=8е 5 д=е9. 
2.2. В Eоот6етEт688 E =оD<4т86=K<8 доку<е=т4<8 6 л8G=Kе дел4 D45от=8ко6 HколK 
6кл4дK64NтEO EледуNI8е доку<е=тK: 
• �4O6ле=8е о пD8е<е, =4п8E4==ое Eо5Eт6е==оDуG=о; 

• Коп88 доку<е=то6 о =47D46де=88; 
• Коп88 4ттеEт4F8о==KE л8Eто6; 



• Коп8N п4EпоDт4 8л8 8=о7о доку<е=т4, удоEто6еDONIе7о л8G=оEтL; 
• Коп8N доку<е=т4 о5 о5D47о64=88; 
• Коп8N EтD4Eо6о7о E68детелLEт64 пе=E8о==о7о EтD4Eо64=8O; 
• Коп8N 8де=т8D8к4F8о==о7о =о<еD4 =4ло7опл4телLI8к4; 
• &Dудо6уN к=86ку; 
• Коп88 доку<е=то6 6о8=Eко7о уGет4 (длO 6ое==оо5O74==KE л8F) 
• Коп8N E68детелLEт64 о 5D4ке (6 EлуG4е 87<е=е=88 D4<8л88); 
• Л8G=уN <ед8F8=EкуN к=86ку (EеDт8D8к4т о пD8686к4E). 
• !пD46ку о =4л8G88 Eуд8<оEт8 8л8 отEутEт688 Eуд8<оEт8 87 �ВД; 
• !о7л4E8е =4 о5D45отку пеDEо=4лL=KE д4==KE; 
• О5O74телLEт6о о =еD477л4Hе=88 пеDEо=4лL=KE д4==KE (пD8 =ео5Eод8<оEт8); 
 45отод4телP оDоD<лOет: 
• тDудо6о9 до7о6оD 6 д6уE Mк7е<плOD4E; 
• тDудо6о<у до7о6оDу пD8E64864етEO =о<еD, Eо7л4E=о 6уD=4лу уGет4 тDудо6KE до7о6оDо6 
D45от=8ко6; 
• пD8к47 о пD8е<е =4 D45оту (о пеDе<еIе=88 =4 дDу78е дол6=оEт8); 
• л8G=уN к4DтоGку № &-2; 

2.3. О5O74телL=о9 O6лOетEO 6=утDе==OO оп8EL доку<е=то6, 8<еNI8EEO 6 л8G=о< деле. 
2.4. Л8G=Kе дел4 D8кE8DуNтEO 6 6уD=4ле уGет4 л8G=KE дел; 
2.4.1. �4 о5ло6ке л8G=о7о дел4 отD464NтEO EледуNI8е Dек6878тK: D4<8л8O, 8<O, 
отGеEт6о D45от=8к4 ШколK; 
 

3. �О Я�ОК ������Я Л�'�/% ��Л  ��О&��КО� (КОЛ/ 
3.1. Л8G=ое дело пед47о7о6 8 EотDуд=8ко6 HколK 6едетEO 6 теGе=8е 6Eе7о пеD8од4 D45отK 
к46до7о пед47о74 8 EотDуд=8к4. 
3.2. Веде=8е л8G=о7о дел4 пDедуE<4тD864ет: 
— �о<еIе=8е доку<е=то6, подле64I8E ED4=е=8N 6 EоEт46е л8G=KE дел, 6 
EDо=оло78GеEко< поDOдке: 
— �4O6ле=8е; 
— Допол=е=8е к л8G=о<у л8Eтку по уGету к4дDо6; 
— Л8G=4O к4DтоGк4 - &-2 ED4=8тLEO отделL=о от л8G=о7о дел4;; 
— Коп88 доку<е=то6 о5 о5D47о64=88; 
— Коп8O пD8к474 о пD8е<е =4 D45оту; 
— Доку<е=тK о по6KHе=88 к64л8D8к4F8о==о7о уDо6=O: 4ттеEт4F8о==K9 л8Eт, 
удоEто6еDе=8е о пDоEо6де=88 куDEо6, MкEпеDт=ое 74клNGе=8е; 
— Коп88 доку<е=то6 о =47D46де=88, пооIDе=88; 
— -- Коп8O <ед8F8=Eко9 к=86к8; 
— КEеDокоп88: 
— п4EпоDт4 (EтD4=8FK E пеDEо=4лL=K<8 д4==K<8 о <еEте Dе78EтD4F88); 
— 6ое==K9 58лет (длO 6ое==оо5O74==KE л8F); 
— E68детелLEт6о о 5D4ке, D4EтоD6е=88 5D4к4 (еEл8 т4ко9 8<еетEO); 
— EтD4Eо6о7о E68детелLEт64; 
— ��� 

3.3. Школ4 е6е7од=о пDо6од8т пDо6еDку EоEтоO=8O л8G=о7о дел4 пед47о7о6 8 
EотDуд=8ко6 HколK =4 пDед<ет EоED4==оEт8 6клNGе==KE 6 =е7о доку<е=то6 8 
E6ое6Dе<е==ое 74пол=е=8е. 
3.4. . &Dудо6Kе к=86к8, <ед8F8=Eк8е к=86к8 ED4=OтEO отделL=о 6 Eе9Dе д8DектоD4 
HколK. Дол6=оEт=Kе 8=EтDукF88 ED4=OтEO 6 отделL=о9 п4пке О'. 
3.5. . В д4лL=е9Hе< 6 л8G=ое дело D45от=8к4 ШколK 6клNG4NтEO: 
• пD8к47K 8л8 6Kп8Eк8 87 пD8к47о6 о =47=4Gе=88, оE6о5о6де=88 8л8 пеDе<еIе=88 по 



дол6=оEт8; 
• доп. Eо7л4Hе=8O к тDудо6о<у до7о6оDу D45от=8к4, котоDKе D8кE8DуNтEO 6 6уD=4ле 
уGет4 допол=8телL=KE Eо7л4Hе=89 8 87<е=е=89 к тDудо6о<у до7о6оDу; 
• доку<е=тK о5 8то74E 4ттеEт4F88 (6Kп8Eк4 87 пD8к474); 
• кEеDокоп88 поGет=KE 7D4<от 8 5л47од4DEт6е==KE п8Eе<, 746еDе==Kе пеG4тLN 8 
подп8ELN от6етEт6е==о7о л8F4 пD8 =ео5Eод8<оEт8; 

4. �О Я�ОК ''�&� � % �����Я Л�'�/% ��Л �����О�О� � !О& '���КО� (КОЛ/. 
4.1. %D4=е=8е 8 уGет л8G=KE дел D45от=8ко6 8 дDу78E EотDуд=8ко6 ШколK оD74=87уNтEO E 
FелLN 5KEтDо7о 8 5е7оH85оG=о7о по8Eк4 л8G=KE дел, о5еEпеGе=8O 8E EоED4==оEт8, 4 
т4к6е о5еEпеGе=8O ко=D8де=F84лL=оEт8 E6еде=89, EодеD64I8EEO 6 доку<е=т4E л8G=KE 
дел, от =еE4=кF8о=8Dо64==о7о доEтуп4: 
• Л8G=Kе дел4 пед47о78GеEк8E D45от=8ко6 8 дDу78E EотDуд=8ко6 ED4=OтEO 6 Hк4Dу 6 
к458=ете д8DектоD4 6 пл4Eт8ко6KE EкоDоEH864телOE. 
• ДоEтуп к л8G=K< дел4< пед47о78GеEк8E D45от=8ко6 8 дDу78E EотDуд=8ко6 ШколK, 

кDо<е д8DектоD4 HколK, 8<еет EпеF84л8Eт по к4дD4<. 
• Л8G=Kе дел4 пед47о78GеEк8E D45от=8ко6 8 дDу78E EотDуд=8ко6 ШколK, 8<еNI8E 
7оEуд4DEт6е==Kе 764=8O, пDе<88, =47D4дK, уGе=Kе Eтепе=8 8 764=8O, ED4=OтEO поEтоO==о, 
4 оEт4лL=KE EотDуд=8ко6 - 75 лет E 7од4 у6олL=е=8O D45от=8к4 (6 Eоот6етEт688 E �еDеG=е< 
т8по6KE упD46ле=GеEк8E доку<е=то6). 
4.2. В л8G=Kе дел4 =е дол6=K 6Eод8тL доку<е=тK 6тоDоEтепе==о7о E4D4ктеD4, 8<еNI8е 
6Dе<е==Kе (до 10 лет 6клNG8телL=о) EDок8 ED4=е=8O. 
4.3. Д8DектоD HколK 8л8 делопDо876од8телL, пD8=8<4O от D45от=8к4 кEеDокоп88 
доку<е=то6, л8G=K9 л8Eток по уGету к4дDо6, дол6е= пDо6еD8тL пол=оту е7о 74пол=е=8O 8 
доEто6еD=оEтL ук474==KE E6еде=89 6 Eоот6етEт688 E пDедJO6ле==K<8 оD878=4л4<8 
доку<е=то6. 
4.4. !5оD 8 6=еEе=8е 6 л8G=Kе дел4 пед47о78GеEк8E D45от=8ко6 8 дDу78E EотDуд=8ко6 
ШколK E6еде=89 о G4Eт=о9 687=8, пол8т8GеEко9 8 Dел878о7=о9 пD8=4дле6=оEт8 
74пDеI4етEO. 
4.5. Л8G=ое дело <о6ет 5KтL 6Kд4=о 6 EледуNI8E EлуG4OE: 
• по тDе5о64=8N D45от=8к4 длO о7=4ко<ле=8O (5е7 пD464 6K=оE4); 
4.6. !=Oт8е коп89 доку<е=то6, ED4=OI8EEO 6 л8G=о< деле, пDо876од8тEO 

толLко E п8EL<е==о7о D47DеHе=8O D45от=8к4 

 

5. �О Я�ОК �/��'� Л�'�/% ��Л �О � �����О� �ОЛ0�О����� 
5.1 ВKд4G4 л8G=KE дел (отделL=KE доку<е=то6 6 EоEт46е л8G=о7о дел4) 6о 6Dе<е==ое 
полL7о64=8е пDо876од8тEO E D47DеHе=8O д8DектоD4 HколK. ВDе<O D45отK о7D4=8G864етEO 

пDедел4<8 од=о7о D45оGе7о д=O. В ко=Fе D45оGе7о д=O д8DектоD о5O74=4 у5ед8тLEO 6 то<, 
Gто 6Eе л8G=Kе дел4, 6Kд4==Kе 6о 6Dе<е==ое полL7о64=8е, 6о76D4Iе=K =4 <еEто 
ED4=е=8O8 еEтL л8 =ео5Eод8<оEтL длO пD8=Oт8O <еD к 8E 6о76D4Iе=8N 8л8 Dо7KEку. 
 

6. О&��&!&����О!&0 

6.1.  45от=8к8 HколK о5O74=K E6ое6Dе<е==о пDедEт46лOтL д8DектоDу E6еде=8O о5 
87<е=е=88 6 пеDEо=4лL=KE д4==KE, 6клNGе==KE 6 EоEт46 л8G=о7о дел4. 
6.2.  45отод4телP о5еEпеG864ет: 
• EоED4==оEтL л8G=KE дел пед47о7о6 8 EотDуд=8ко6 HколK; 
• ко=D8де=F84лL=оEтL E6еде=89, EодеD64I8EEO 6 л8G=KE дел4E пед47о7о6 8 EотDуд=8ко6 
HколK. 
7. � ��� 

7.1 ДлO о5еEпеGе=8O 74I8тK пеDEо=4лL=KE д4==KE, котоDKе ED4=OтEO 6 л8G=KE дел4E 
пед47о7о6 8 EотDуд=8ко6 HколK, 
пед47о7и и EотDуд=ики HколO и<еNт пD46о: 



• �олуGитP пол=уN и=DоD<4FиN о E6оиE пеDEо=4лP=OE д4==OE и о5D45отке QтиE 

д4==OE; 
• �олуGитP доEтуп к E6ои< пеDEо=4лP=O< д4==O<; 
• �олуGитP копии, ED4=OIиеEO 6 лиG=о< деле и EодеDж4Iие пеDEо=4лP=Oе д4==Oе. 
• ТDе5о64тP иEклNGе=иO или иEпD46ле=иO =е6еD=OE или =епол=OE 

пеDEо=4лP=OE д4==OE 

D45отод4телP и<еет пD46о: 
• О5D454тO64тP пеDEо=4лP=Oе д4==Oе пед47о7о6 и EотDуд=ико6 HколO, 6 то< GиEле и 
=4 QлектDо==OE =оEителOE; 
З4пDоEитP от пед47о7о6 и EотDуд=ико6 HколO 6EN =ео5Eоди<уN и=DоD<4FиN. 
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